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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-11
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
STATISTICAL METHODS
(STAT-211)

Time : 2 Hours

Section—I :10

Maximum Marks : 70
Section—I1: 60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
gus - |
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the squage

iven agai i (10x0.5=5)
given against each sub-question. :
vmmgﬂammmlm2m3w4mm—m$ww{nﬂaﬁﬁml

s () Data classified on the basis of sex, colour of hair, literacy etc. is D
, (1) Geographical
| 2) Chronological
(3) Quantitative
| (4) Qualitative.
fof, el T 0, WERE SR W St it 8
(1) shfas
(2) HEIIHD
(3) HEATHH
@) T
(i) The value of median can be obtained through l':_l
(1) Histogram
(2) Frequency polygon
(3) Pie diagram :
(4) Ogive. _
i 1 9F e/ W R ST S @
(1) A fa=
(2) wIERAI S
(B) W AwE
@) Sisal
(iii) If data set contains some extreme values, then a preferable measure of central
tendency is D
(1) Arithmetic mean
(2) Median
(3) Geometric mean
(4) Harmonic mean.
I TF THE YIE T A @A R, 9 DA W S w9 R
(1) THR AA
(2) WA
(3) VIR A

4) TAESR HHA|
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(iv) If a constant value 10 is added from each observations of set, the mean of set is D

(1) Increased by 5
(2) Increased by 10
(3) Reduced by 10
(4) Reduced by 5.

afz ww feor wem 10 fFR 9HF T F oTEE gen § W8 O ¢, WE & A
(1) 5/ =W
(2) 10 ¥ s@m
(3) 10 ¥ wm
4 5 ¥ wm

(v) For n = 10, you are given Z(x—3) = 20, the arithmetic mean is [:l
a1 2
2) 3
3 4
@) 5.
n=103g & & Y (x-3) =20, TARR A ¥

¢))
(¢))
3
)

';.h-hbJN

N Gi o s =l sl i :
(vi) Given that P(A) = 3, P(B)= 7, P(A/B) = ., the probability P(B/A) is equal to |___':|

M
@ 3
® 3
@ 2.
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(vii) If mean and variance of a binomial distribution are 8 and 4 respectively. Then P(X = 0)
s o =

» &

Wl oo|= pjw n|=

)
3) 2t

@ —=.
2
T B 927 F1 UrA I T F: 8 @R 4 ¥ 9@ PX =0)H WK ®

1
W 5%

1
(¢) o2

1
3) 2%
1
D9
(viii) A function of sample observations is called D
(1) An estimate
(2) An estimator
(3) A frame
(4) A statistic.
Wiyl el W B FE 9 &
(1) e
(2) TEHTH
@) @
(@) e
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(ix) The range of regression coefficient is D !
(1) Oto -
(2) - to o
B3 Ot
@) -1to+1.

YHISAOT O w1 G €
() 0¥
(2) - ¥ e
3 01
@ -1% +1.
(x) Homogeneity of several population means can be tested by D
(1) T-test
(2) Z-test
(3) F-test
(4) x%test
% wAfe Tl #t SgEEd H dEw @ fRm W1 wEa @
(1) T-9der g’
2) Z-90Ew g
(3) F-9dgu g/
@) P-wdET gwI

2. Fill in the blanks : (10%0.5=5)
g @t &t 9fd SIS :

() Number of deaths per month occurring in India due to suicides are categorized as
............................................. variable.

g § W TR R A ¥R At 5 6 = Q FiiFa
o < 1

(i) The cumulative of less than type should always correspond to the
of the class intervals.

'} FY YHR F G GOERA S T S Fl .
% ST T =feTl
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‘ . (i) For measuring the average speed of a man travelled by a particular distance by seyer,;
b is used.
: means :

mmmﬁﬁqm@aﬂﬂimiﬁmﬁﬂﬁmﬁ%ﬁ ...................................
1 ST fR S Rl

-------------------------------------------------

(iv) If the C.V. of a series is less, series is said to be
AR et T Aof e E FH G, AN B e
SR

(v) In throwing three dice together, the exhaustive number T EETE T ot e e
i e e i T 1 1 R L e — 2

(vi) The average age of 50 students in a class is 20 years. When the age of a teacher is
included, the average age is increased by one year, the age of the teacher is

years.

foet @ @ 50 SE @t WA 39 20 T R v R # 39 St Wig G I € @
W | 9 9 T Bl RIEF B ST e a9 2

(vii) If X is a standard normal variate. Then the mean of X is equal to ..........ccocueueueneneee....
AR X TH A T TR T X BT A oo, F R 2

- (viii) If the value of sample mean resembles to the population mean, it iS @ ......c..coceeveeeeeurenene.
estimate.
AR IR T e WA R OGGY D, T GT UE oo
W R

(ix)  Significance of regression coefficient can be tested byFee e s e test.
FHSIT TF B WAHA o T ¥ SR g 2

(x)  The limits of y> (chifsquare)iisirer: - AUIEE san 20, o
FR-T () N P = 21
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Roll No. S

Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-1I
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
STATISTICAL METHODS
(STAT-211) ‘

SECTION - I
gqug - 11

Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for

writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.

faweeTs A (W Wem 3, 4, 5, 6 W 7) B SW D T -y - faed §1 sw-ghae
Tt R Y- QO R & AR e g0 FEEER o o s

fovas M %1 9H-19 wdened 3T W @ W1 g

3. Define the following : (5x1=5)
Frafafaa = wfonfia =ifsg .

(i) Continuous variable.

Hqa =l

(ii) Mutually exclusive events.

TR YT He2e]

(iii) Degrees of freedom.
Wa=a Hifel

66/000/(1190)/C-336 9 6[272
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~ (iv) Parameter.
=l

(v) Standard error.
e T

2x3.5=
4. Differentiate between the following : (2x3.5=7)

frrafafan ¥ 3R ST ¢
5 @) Skeyvgess and Kurtosis.
T T gE

,-’(ii)v - Scatter dllagram and pie diagram.
farga 3@ SR W sl

5. Write short notes/comment/justify the following : (2%6=12)

frefafad o1 989 # feoufi/aviq/samen i

(1)  Properties of arithmetic mean.
THIRR WA & TR

(ii) Properties of regression coefficient.
HHIFAU ONF & IO

6. Explain any two of the following three questions in 1-1%2 pages. (2x8=16)
frafafaa 9 9% & @ f6d 3 SW 1-1% W ¥ DHfvw

(i) Explain the importance and limitations of statistics. ‘

iRl F Hed U6 AR F q9AEdl
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(i) The mean weight of 150 students in a certaj i mean

: : n class is 60 kg. i

in the class is 70 and that of girls is 55 kg. Find the number gf :oh;sandgl:su ?ﬂgm
m@mﬁlsoﬁmmmwmm%mﬁmmmm@m
& 55 fm. %nmﬁm@mﬁﬁmmmn

(iii) State advantages of sampling over complete enumeration.

YR H QO TR R AW F Seer@ i

7. Explain/Describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frafafaa @ vl 9 @ 6=l @ & 3w 23 W § A

(i) What do you understand by central tendency? Describe various measures of central
tendency with their merits and demerits.

S vl @ o w e §2 350 vt @ fafe T w1 I 0 G R AR
R Ui FHifC

(i) Write various steps for testing the statistical hypothesis. How you will compare the means
of two independent samples using t-test ? Explain.

gifersa Tiwer dgu & faftm = fafeu B L et B B - e M ity
F O AW DY FE? THAA

(ili) What is ANOVA? Describe one way classification in detail.
ANOVA FI1 £7 T Fiew i fawr @ o Fifsw
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